
 

 

 

Reading Future  

Connect 1 Final (Units 9-16) 

 

 Answer the questions. 

 

1. What is the best word for the blank? 

We are watching Nick swim. He is the 

fastest swimmer. Right now, he is 

______________ the race.  

a. win   b. won 

c. winning  d. wins  

 

2. Which word does NOT correctly 

match with its meaning? 

a. assume: to think something is true 

b. delicious: tasting very good 

c. pilot: a person who flies a plane 

d. dust: big rocks 

 

3. Which pair does NOT have the same 

relation as the sample? 

<Sample: big : huge> 

a. feeling : emotion 

b. difficult : hard 

c. pay : give money 

d. stand : sit 

 

4. Which pair does NOT have the same 

relation as the sample? 

<Sample: fast : slow> 

a. learn : forget 

b. travel : take a trip 

c. similar : different 

d. angry : happy 

 

5. Which word has the closest meaning 

to the underlined word? 

My dad likes to meet new people. He is 

very good at communicating with 

people. This is because he is a good 

listener.  

a. giving information b. thinking 

c. studying  d. suggesting 

 

6. Choose the option that best fits the 

blanks. 

Bruce (A) ___________ every day. He is 

getting ready for a big (B) ___________. 

       (A)   (B) 

a. surfs                 match  

b. skis                   language 

c. loses     party 

d. learns              flight 
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7. What is the correct word for the 

blank? 

My sister turned eighteen years old. She 

is getting ready to get her driver’s 

______________. 

a. point  b. season 

c. license  d. advice 

 

8. What is the passage mainly about? 

Ice fishing is a winter activity of catching 

fish through a hole in ice. Ice fishermen 

use ice fishing rods to catch fish. These 

rods are small, short, and light. They are 

made to go straight down an ice hole. 

They are also made to move up and 

down quickly and easily.  

a. Ice fishing is done in the winter. 

b. Ice fishing rods are made in a special 

way. 

c. A big hole needs to be cut in the ice. 

d. Catching fish is quick and easy. 

 

9. What is NOT true about the passage? 

Many people think that tomatoes are 

vegetables. We eat tomatoes in salads 

and meals. But, tomatoes are actually 

fruit. This is because it has seeds inside, 

like apples and oranges. Tomatoes have 

many small seeds that can be eaten.  

a. Tomatoes have seeds. 

b. Tomatoes are not fruit. 

c. Tomato seeds can be eaten.  

d. Tomatoes are eaten in salads. 

 

 

 

 

10. Who is “They” in the passage? 

Mosquitoes are little creatures that can 

be found all around the world. Female 

mosquitoes need blood from animals to 

lay eggs. They have special mouths to 

drink blood. Male mosquitoes only drink 

plant juice.  

a. Female mosquitoes  

b. Male mosquitoes 

c. All mosquitoes 

d. Mosquito eggs 

 

11. Choose the correct forms. 

A good soccer player needs to (A) 

(learning / learn) how to kick the ball. 

Also, a good soccer player needs to have 

strong legs in order to (B) (kick / kicking) 

the ball into the goal. 

          (A) (B) 

a. learning  kick 

b. learning  kicking 

c. learn   kick 

d. learn  kicking 

 

12. Choose which is NOT correct. 

Whistler Blackcomb is a famous ski  

(A) resort in Canada. There are two  

(B) mountains: Whistler Mountain and 

Blackcomb Mountain. There is a 

gondola that goes (C) between the two 

mountains. Many people go (D) exciting 

snowboarding in the winter.  

a. (A)   b. (B)  

c. (C)   d. (D) 
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13. What is most appropriate for the 

blank? 

Stonehenge is a circle of standing 

stones. It took over a thousand years to 

build. People are not sure 

__________________. Some people 

think it was to study the sun and the 

moon. Other people think it was a place 

to relax and get better.  

a. why Stonehenge was built 

b. where Stonehenge is 

c. how old Stonehenge is 

d. what Stonehenge looks like 

 

14. Read the passage and complete the 

Wrap Up chart below. 

Claude Monet was a famous French 

painter. He started a new painting style 

called Impressionism. He painted a 

painting called “Impression, Sunrise”.  It 

is a painting of fishing boats and the red 

sun. It can be seen at a museum in Paris.  

 

About the Painter About the 

Painting 

 painting of fishing 

boats and the red 

sun 

started 

Impressionism 

 

 

 

15. Read the passage and complete the 

compare and contrast chart below. 

Volleyball and basketball are both 

sports that are played with a ball. Both 

are played in teams. Volleyball has six 

players on one team. Basketball has five 

players on one team. In volleyball, the 

ball is hit over the net. In basketball, the 

ball is shot into a hoop.  

 

Volleyball 

(Different) 

(Same) Basketball 

(Different) 

has 6 

players 

 

  

 

 

are team 

sports 

ball is shot 

into a hoop 

 


